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A= gEAd= A 0 DA
A M XG0l 2UF EAl= Atz A4
el AEzged 58 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
fag=Fak~n 253,073,079 193,527,545 59,545,534
= 65,045,220
s 49,925,500
e 416,925
& 137,685,434
Eag==4= gL 53,670,273 65,716,736 A 12,046,463
= 3,650,917
s 15,666,500
T 34,352,856
& X0l 20T ZAk= Algl A4 2,466,880 3,826,840 21,359,960
s 242,200
= 2,224,680
ANEzgyd A 2,153,040 3,353,600 21,200,560
NLEX=ERS 22 14,040 15,600 21,560
201 2E2 & 14,040 15,600 21,560
01 Ar22teltl 14,040 15,600 21,560
OEX=EME a5 2 & 233 23 14,040
HESHAIZ JHEA 2,139,000 3,338,000 21,199,000
403 XX SHHSA=01A 2,139,000 3,338,000 21,199,000
01 RIS AH2E £ 2,139,000 3,338,000 21,199,000
OME=H JHEAL 2,139,000
OlHKIEEE TAIHE =& 244,000 394,200 A150,200
s 242,200
& 1,800
SAAHE =g 243 1,800 2,000 A200
201 Ler23H| 1,800 2,000 A200
01 ArR222lt| 1,800 2,000 A200
OZAAHERARS 2 1,800
ZII0IHAHZH KNI Ol KK ALS 242,200 242,200 0
s 242,200
308 RXISHHMSOIH 242,200 242,200 0
s 242,200
01 XN BAELS 242,200 242,200 0
OFII0IESESE KNI OIREKIE At 242,200
s 242,200
DEYN FRE HRFH 69,840 79,040 29,200
oYM =R HRFA 38,100 42,000 23,900
203 R =& 38,100 42,000 23,900
03 AR FRIHRFAIH| 38,100 42,000 A3,900
ODgedd =80 ARFA 38,100
LGSR FH 31,740 37,040 5,300
201 2| 29,700 33,000 A3,300




?l: €N TR R (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
01 AlR2telHl 29,700 33,000 3,300
et o=y 29,700
202 04l 2,000 4,000 2,000
01 2LHOIL 2,000 4,000 2,000
OXNSINEAIY & AR =& 0] 2,000
301 LetEd=z 40 40
11 AN~ S 40 40
OZstH=dABH 40
ZEHel XSApe 21,557,374 24,070,100 N2,512,726
= 3,650,917
z 15,424,300
< 2,482,157
NS EN 17,609,300 23,470,100 5,860,800
= 15,424,300
S 2,185,000
UNHEXE XQNL ALY 1,374,000 2,250,000 876,000
fas 1,374,000
403 MXISHHSX=Z01H 1,374,000 2,250,000 876,000
= 1,374,000
01 RXIEHA 22 £ 1,374,000 2,250,000 876,000
OYMFIE XANLAS 1,374,000
z 1,374,000
NS+ SIS 6,014,000 5,566,000 448,000
z 6,014,000
403 MRISHHSXZ01N 6,014,000 5,566,000 448,000
= 6,014,000
01 RIXIEHHIXtE 2 & 6,014,000 5,566,000 448,000
OXe=2 XEXFAY 6,014,000
z 6,014,000
NSEEEE TEAY 663,000 0 663,000
z 663,000
403 MXISHHS 201N 663,000 0 663,000
= 663,000
01 RIXIEHHIXtE 24 663,000 0 663,000
OXSAg=E2 T8AY 663,000
z 663,000
SNEEXF KA 3,430,000 2,960,000 470,000
z 3,430,000
403 MR SHHMSAH=01H 3,430,000 2,960,000 470,000
= 3,430,000
01 XXISMX=2EX 3,430,000 2,960,000 470,000
SAEEXT N2AE 3,430,000




D BEASR SN pEYd
D @EX0l Xy
AGHe=a (SH9 H2)
AR 2N - B S2(3H) - NRAY - BES ol &b o4 A ClImE=T]

| = 3,430,000

BT JIEAIE TIRAR (R BAIRY) 1,685,000 5,104,000 3,419,000

408 XHXISHHI S K20l & 1,685,000 5,104,000 3,419,000

NEGIENTEEES 1,685,000 5,104,000 3,419,000
ONEXI JILHAILE XA 1,685,000

LRSI SRR 1,409,300 2,089,100 649,800
= 1,409,300

408 XHXISHHI S XH2 0l & 1,409,300 2,059,100 649,800
e 1,409,300

PG PUEES 1,409,300 2,059,100 649,800
OMLRIBRA FOIK A 1,409,300
i 1,409,300

N R B o 22l | 1,000 1,000 0
= 1,000

202 O4H| 1,000 1,000 0
= 1,000

01 =LHOIH 1,000 1,000 0
OM B2 0] 1,000
Ei 1,000

HLRIBHT A 2ERIH] (A1) 33,000 3,000 2,000
2 33,000

308 XHXIEHHI SOl & 33,000 3,000 2,000
= 33,000

01 IXISHHAARES 33,000 35,000 2,000
OML BT 22l b 33,000
& 33,000

SHEEE B 43 500,000 0 500,000

408 XEXI A SKH20I & 500,000 500,000

NPGENPAEEES 500,000 500,000
SHEEES &7 X 437,500
OJEZEE B 2 HIlSH2H| 62,500

S XA 1,000,000 2,880,000 1,880,000
= 1,000,000

408 XEXI S SKH20I & 1,000,000 2,880,000 1,880,000
e 1,000,000

01 XHRISHHIXH= 2 X 1,000,000 2,880,000 1,880,000
OMS2 FAABUE HF2AX X4 1,000,000
e 1,000,000

CHot (| BEBRE 01T} = 1,000,000 2,610,000 1,610,000
= 1,000,000

408 THXISHHIS K20l & 1,000,000 2,610,000 1,610,000
= 1,000,000




A= og€HER A oEZA
. DXl g
Rl XFIHeE=sd (SH9 H2)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
01 AXESMA2EE 1,000,000 2,610,000 1,610,000
Ot fiR===E ot 1= 1,000,000
= 1,000,000
AlEt S =ERE IREYS2 TLEAMY 500,000 0 500,000
= 500,000
403 XIS A=201E 500,000 0 500,000
z 500,000
01 AXISHHA =2 £ 500,000 0 500,000
Odlghdt 22 #82E XRga32t =4
te 500,000
= 500,000
SAIDHE 2t 3,948,074 600,000 3,348,074
= 3,650,917
(= 297,157
7.9.~19. S2 T SFAL(SAISE - =X) 2,162,745 0 2,162,745
= 1,865,588
< 297,157
403 AXIEHMSA=01d 2,162,745 0 2,162,745
= 1,865,588
== 297,157
01 AXEH 22X 2,162,745 0 2,162,745
07.9~19.32 Tloi STML(SAIZY - =) 2,162,745
= 1,865,588
< 297,157
7.9.419. 2 Io SFAIL(ARE SSAIAE) 1,785,329 0 1,785,329
= 1,785,329
403 TR S AH=01 ™ 1,785,329 0 1,785,329
= 1,785,329
01 AXEMA2E = 1,785,329 0 1,785,329
07.9~19.52 To SRME (A2 SSAIE
) 1,785,329
= 1,785,329
dFE=HSe 243 1,844,800 519,000 1,325,800
FF=N3e 2435t 1,844,800 519,000 1,325,800
Al i e = 1,166,500 299,000 867,500
201 LEer2 | 4,500 5,000 2500
01 At2t2lt] 4,500 5,000 2500
O=H=d FXI0HHE Lerda+=EH] 4,500
202 Ot 10,000 12,000 £2,000
03 =0 10,000 12,000 2,000
OFFZMIE 2 M HEFA J2/0| 10,000
301 LEEES 1,152,000 282,000 870,000
08 212+91=2| 44| 2,000 2,000 0




od
i’
oF
uJ

10} 10}
%0 %0
il i
00 00
M [0 O
W=E=
NALRLE
0 Kk K-
M R0 &0

W & o
A RO T

S S1818 il 38 21818 SIS JID|D 3|3
S Sle|e ekt Sle|S So|9|w v et Bt Nl NN
- o — | = | = DR | D [} Ne>I Ne>IN Ne>] (o)} e>IN Vil NaX) < | <
o 5 e 212 |88\8 21222 3|3
E
E=]
] 8188 318 e ele|e S183(3|3 BR(8|8 S8
S Sle|e S|S SISISIE(S ool |R < |Q
e g SIS S HEIEIEIE SRR ¥ |5
o
il
RIS
mmmwmmmmmmmmwwmmwmBWWWWW%MMQWW%WQQHH%MMMM
S S S olnled g|g9|S onld B85 |9|8 SIN|S|SISIS & I N & & & F 6 olNNlale = 0|l &
v g8 g gl88s 8|7 v|B|B B|g|3|g g|B|G|g|¢|lg e RS~ N~ glB|d|d @ 2|d|Y ¢
ar -
<
S
oir _
X0 o
T 1| R
| Lo ok &
o < = ke 00
= |a R ol il — o et
A = . = = DR
I I 0 o RJ 3 |8r <+
z |° B o K| |= S| a <+
. Rl 0 TF 00 ok or M = iz 00
— |k < 3l oF W0 | <k . = <F
o T T ol I - I L Ko o u
2 | = = bl E= D p|= by r o
oF | o H _ﬂn - _p% | & LY 5o« ol
ol |0 0 70 00 Il P e B w0 (= = M o T - o
* R oA DS |s R s|a R|n|E Na|ls|s 0| O s I s T S|z oD
H I 2= |Wmnlpg =gl R|=|0 == =2 mwg_.:amu,m_r.__%a##% B0 (/o 00 W0 - T
O S s O T e U o I e Slrr H W KR RS K 4 o oW [y <k D 53
S A o ) Y o e o o O 1T o Y O = A T L o |0 W Hi5)S W
T |KMND R R R=z|o|< Rja1 < RO (<A RO |= (8|8 R |z |5 |80|cl|H0 OJ 1 1 1 T|ol|X n NS
I |© = OO0nmlgls ©lglg Olg|le Olr|s|s Olm|a|H|s|g © s|®|sls © Olyls ©
. K | « & K- | & 30| ob | ar | = SRR &
i R0 R0 0H | &r | o |~

=
1o




A= JgAHE= 2N ZELE D
A HYRAZH(ZELEL)
s Jl=2ghl EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
203 R F2IY| 24,000 23,400 600
01 J|2=2gegR=a] 6,600 6,600 0
OogAae=d 6,600
(U A geches Bt lal 17,400 16,800 600
Odg&dt 4,800
ozzHh 4,200
OusE= 4,200
OEXNE2 1 4,200
Heas(ogad) 27,666,000 37,166,000 9,500,000
WeHeHXIE 27,666,000 37,166,000 9,500,000
WSAHHXIZE 27,666,000 37,166,000 9,500,000
701 JIErRIHISHES 27,500,000 37,000,000 9,500,000
01 JIEtalAdES 27,500,000 37,000,000 9,500,000
OXNGneeuEEH HES 27,500,000
705 Ol==dclisde 166,000 166,000
04 Al - EXISHEDIS0==01 ket et 166,000 166,000
07.28-8.11 SRS AL 86,000
OXIe252 THoHoll'Y FHIAFE (MIE) 80,000




A £ 0l & AF & S
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Al A

A= Dg€HER 2A 21
M me|ot) otEE S22 RH
ol NS 2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
CE2 141,377,349 72,362,650 69,014,699
= 49,721,266
z 23,914,000
e 375,000
[ 67,367,083
Helotn erME E2Y 2= 120,009,973 53,723,336 66,286,637
= 49,721,266
z 23,914,000
e 375,000
< 45,999,707
g2 2e 143,193 144,850 A 1,657
NYE WSS TA 9,198 92,850 3,343
401 AlEBIYL LY 9,198 92,850 3,343
01 AlZHI 96,193 92,850 3,343
OXLE nESzk A 96,193
=79 2 47,000 52,000 25,000
308 XXM SOIA 47,000 52,000 25,000
01 XM B EES 47,000 52,000 25,000
OXgE 79 22| 47,000
FIEE2RIMM 2,312,000 1,457,000 855,000
A2 PRINEAMG (HEA) 2,312,000 1,457,000 855,000
403 AXIEHMSAH=01 2,312,000 1,457,000 855,000
01 AR A= 2 £ 2,312,000 1,457,000 855,000
ORIEEZ PIME ALY 2,312,000
NS SOHEtH N AL 7,877,000 7,154,200 722,800
e 375,000
[ 7,502,000
WEALD F2R HEAIL (M EALY) 1,830,000 1,810,000 20,000
403 AXIEHMSA=Z0l1d 1,830,000 1,810,000 20,000
01 AXIEHM A =2 £ 1,830,000 1,810,000 20,000
OLSAD #2R HHA 1,830,000
SIEWXZ XA (HEAL) 280,000 980,000 700,000
403 TR M SAH=01H 280,000 980,000 700,000
01 AR A =2 £ 280,000 980,000 700,000
Ol Wit=z &XIAS 280,000
020l B&57Y A (M EHALS 1,525,000 1,200,000 325,000
403 MR HHMSAH=01H 1,525,000 1,200,000 325,000
01 AXISHHA 22 £ 1,525,000 1,200,000 325,000
ONglol 579 ALY 1,525,000
LOIES A JHEAIY (HEALY) 1,215,000 940,000 275,000
403 XM SEXH=01 ™ 1,215,000 940,000 275,000
01 AXEMA2EE 1,215,000 940,000 275,000




432 pEAg3 =N E2D

M ERISID NS TRy A%

S9N DEQIMEA NI CERED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH e Hnz=2
SHrTATSRE T == - 0] ap ot =®

| OolZsol JjaAel (T 1,215,000
LONEETY S EXA (HBAR) 362,000 1,699,200 A1,347,200
408 XX RIS K201 & 362,000 1,699,200 A1,347,200
01 REXIEHRIA 2 2 2 362,000 1,699,200 21,347,200
OSUUSHEE S EXAY 362,000
OIMEH SMEA RO (HEAIY) 2,300,000 400,000 1,900,000
403 RXIHHMSA=01H 2,300,000 400,000 1,900,000
01 REXIEHMIAt 2 2 2 2,300,000 400,000 1,900,000
Oprast H8s LAY 2,300,000
4B 0|HEZ FHIAY 150,000 125,000 25,000
b 150,000
403 MRS A=01H 150,000 125,000 25,000
a2 150,000
01 REXIEHRIA 2 2 2 150,000 125,000 25,000
OME 0|HE2 Fb|AL 150,000
@& 150,000
E29 == ALY 225,000 0 225,000
@& 225,000
403 MRS K201 A 225,000 0 225,000
S 225,000
01 MXIHH A =22 2E 225,000 0 225,000
OEgol 222 FHAL 225,000
s 225,000
SO E RS 2 HALS 42,305,000 12,870,286 29,434,714
ras 23,914,000
= 18,391,000
AE-2 NG AL (2N C95H) 15,912,000 6,856,000 9,056,000
= 9,916,000
= 5,996,000
401 AlE2BIXL S THYI 16,623,000 6,856,000 8,767,000
z 9,714,000
= 5,909,000
01 AlZHI 15,003,000 6,3%,000 8,607,000
OdE-g2t =2NE 24 15,003,000
2 9,280,000
= 5,723,000
02 &eldl 600,000 450,000 150,000
OuE-g2t AN A4 600,000
fas 420,000
= 180,000
03 Al2=0HbI 20,000 10,000 10,000
AE-g N AL 20,000




A= AL 24 E2
HE: Holst] QNS TRY &
ool RPN AN Y LAY (el mel)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t Ce = HIRE2
Off &boH
2 14,000
= 6,000
403 TR SIS KH= 0 & 289,000 0 289,000
2 202,000
= 87,000
02 2| HS I CHEI = E P/ EARI b 289,000 0 289,000
OME-82t 2N A4 289,000
2 202,000
= 87,000
0I3-242 2T AL (2NERS 14,983,000 3,800,000 11,183,000
= 10,488,000
= 4,4%,000
401 A8 2 TH8] 14,983,000 3,800,000 11,183,000
2 10,488,000
< 4,495,000
01 Al 14,613,000 3,460,000 11,153,000
OKz-24 2NE AL 14,613,000
2 0,229,000
= 4,384,000
o2 22l 350,000 330,000 20,000
O%z-24 2T 2AA 350,000
2 245,000
= 105,000
03 Al& =T 20,000 10,000 10,000
O%3-24 2XE A4 20,000
2 14,000
= 6,000
SUER-QHIC 2NE AL (XEHSH) 11,410,000 2,214,286 9,1%,714
2 3,510,000
= 7,900,000
403 KX SHHIS XHZOI & 11,410,000 0 11,410,000
= 3,510,000
= 7,900,000
IBER AT 1,410,000 0 1,410,000
OSUS2-2FIC 2N E & 1,410,000
2 3,510,000
< 7,900,000
ngzz = 22,859,950 30, 196,000 7,386,050
= 7,308,325
= 15,531,625
S-ZZIC YT HTYTA 4,000,000 7,000,000 23,000,000
401 AI&HIZ S OHY] 4,000,000 7,000,000 23,000,000
01 Al 3,500,000 6,6%,000 3,105,000




A= pYAL= 2N E2
Hm: @olold OHEE CRY PE
el NYE2Z JHl (Gt H2)
AR 2N B . O9(3H) - NBAY - BES ol by dE= HDS2
d=-FA-3858-8 = 4= = 0l &+ 2
OUES-SZIC NEE SHEZEIDAL 3,590,000
02 2eldl 400,000 300,000 100,000
OUE-SZIC NET SHEEHISAL 400,000
03 A& 20| 10,000 5,000 5,000
OU=-3ZIC NET SHEZEHSAL 10,000
TH-ZE AYUT SEEZAL 1,500,000 4,800,000 A3,300,000
401 AlEHIZLE20HY] 1,500,000 4,800,000 A3,300,000
01 Al&H| 1,090,000 4,417,000 N3,327,000
Oxd-BE LT SLFHISA 1,090,000
02 2teldl 410,000 380,000 30,000
Oxd-3E LT SILIFSA 410,000
NA-SE XSE SLES A 1,200,000 4,500,000 3,300,000
401 AIEHIZL 01| 1,200,000 4,500,000 3,300,000
01 Al&H| 595,000 3,995,000 A3,400,000
OXNe-5H XNeUe SZEHIA} 595,000
02 2eldl 600,000 500,000 100,000
OX-5H XLE SLET A 600,000
03 Al&SCHYI 5,000 5,000 0
OXN(-SH XLE SIEHIS A 5,000
M-z KN SEEZA 1,200,000 4,700,000 3,500,000
401 A& HILE0HY] 1,200,000 4,700,000 3,500,000
01 Al&H| 794,960 3,986,000 A3,191,040
Oga-2= N SZLEIA} 79,960
02 22l 400,000 700,000 300,000
OgN-g= NYe SZEHIA} 400,000
03 Al 2 0HHI 5,040 14,000 8,960
Os-g= LT SIEHSA 5,040
SHA-XIA XS SIEEZAL 500,000 4,000,000 23,500,000
401 A& HILE0HY] 500,000 4,000,000 23,500,000
01 Al&HI 500,000 3,995,000 A3,495,000
O Y-XI4t XL E SILE S A 500,000
A= LI EF AYUE N2 A 100,000 300,000 200,000
401 AIEHIZL 204 100,000 300,000 200,000
01 Al&HI 99,000 295,000 A 196,000
O%x RIEZ KT NEZ2A 99,000
03 Al 2 0HHI 1,000 5,000 A4,000
O= 232 K8E A 1,000
NS DIXSEXN B4 500,000 1,000,000 500,000
401 A& H|ILE0HY] 500,000 1,000,000 500,000
01 Al&HI 500,000 1,000,000 500,000
OXNE DIX=SsSK B4 500,000
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A= JgHe= 2N E20
A Helotl) erdE E2Y =
ol NYE2 H EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
N2 UMY 29 38,300 42,000 A3,700
201 Zet=d] 29,000 32,000 3,000
01 AlR2teldl 26,000 29,000 3,000
ONgE HRFN ML RO S 26,000
2 =523l 3,000 3,000 0
Ot=czusg2s 284 Xd 3,000
203 AR =ZIH| 9,300 10,000 AT00
03 Al =X H 22| 9,300 10,000 AT700
OXgE=AE =& 9,300
CAZ2e A= =8 200,000 0 200,000
401 AIEHIZL 20| 200,000 200,000
01 Al&€HI 200,000 200,000
OzALZeHE = 200,000
NEe =279 £8 89 50,000 100,000 50,000
401 AIEHIL 20| 50,000 100,000 250,000
01 Al&HI 46,000 9,100 53,100
OXNge £279% XHEH 46,000
03 AIZ=CHYI 4,000 900 3,100
OXNge 279 XFEY 4,000
7.9. ~7.19. SR SAAME(=S1) 13,221,650 0 13,221,650
= 7,328,325
< 5,893,325
401 AIEHIYL 20| 13,221,650 0 13,221,650
= 7,328,325
< 5,893,325
01 AlZHI 13,212,650 0 13,212,650
07.9.~19.52 TIoH SFAIS(Z==1) 13,212,650
= 7,324,325
< 5,888,325
03 Al 20HHI 9,000 0 9,000
07.9~19.32 TloH STPAIS(Z2=1) 9,000
= 4,000
< 5,000
S5 MRS NA3c2 BIHHHE & =2Dig 29 350,000 350,000
207 A IHEH] 350,000 350,000
01 A2 ESHI 350,000 350,000
E5 MEE DR3E2 CEEZE 2@ =
e &9 350,000
= - S0EZZ Fdl 42,468,314 0 42,468,314
= 41,341,131
< 1,127,183
7.9.419. 2 Lo SRS (E2E - sHEZR) 42,468,314 0 42,468,314
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A= Dg€HER 2A 21
M me|ot) otEE S22 RH
el 2k - sHEZZ E4| EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
= 41,341,131
< 1,127,183
403 X SHHMSAH=01H 42,468,314 0 42,468,314
= 41,341,131
& 1,127,183
01 AXEMA2EE 42,468,314 0 42,468,314
07.9.~19.52 LlgH S7ME(2E - SOES
2) 42,468,314
= 41,341,131
< 1,127,183
SAAHEEZ HH 543,000 601,000 A58,000
SANHEEZE FHIAY 543,000 601,000 A58,000
403 THXISHMSAH=01H 543,000 601,000 A58,000
01 AXESHM A =22 543,000 601,000 58,000
OZAAHEZZ FHEIAY 543,000
AEH C22e] 1,501,516 0 1,501,516
= 1,051,810
[ 449,706
7.9.~19.52 ToH SPAL(MHENEZ) 1,501,516 0 1,501,516
= 1,051,810
< 449,706
403 AXIEHHSAH=201d 1,501,516 0 1,501,516
= 1,051,810
< 449,706
01 AXSHM A 22 1,501,516 0 1,501,516
07.9~19.32 Tlo SEML(IMEANCR) 1,501,516
= 1,051,810
< 449,706
A SNGl= XFAL LY | 2,700 3,000 2300
ASAHE A 2d st 2,700 3,000 A300
HEMHELS R =N 2,700 3,000 A300
201 2Bl 2,700 3,000 A300
01 At2t2l] 2,700 3,000 2300
OA&MAEHS AR =2 2,700
MHEXI& 240,000 240,000 0
KA 1T 240,000 240,000 0
CEANEE FS1E 240,000 240,000 0
308 XXM SOIA 240,000 240,000 0
02 =123 240,000 240,000 0
OE2AM8E 240,000
HY2HAH(E2D) 52,526 56,914 14,388
=&l 52,526 56,914 14,388
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A= DgAHE= 2N E20
I HH2IHU(=20)
=l Jl=3H| (Gt H2)
A2 2A - BB O(BH) - MRAY - BAS 0l &y A HIRS
Jl23tl 52,526 56,914 4,388
201 ¢et=a | 17,578 19,514 1,936
01 At 2teltl 17,578 19,514 A 1,936
OJlz=8tl 7,172
(ORI —t=1=ia] 10,406
202 0| 33,660 37,400 A3,740
01 =LHOIHI 33,660 37,400 A3,740
OJl=0ddl 33,660
406 XHoHR SHI 1,288 1,288
01 L =ZF S 1,288 1,288
O2xt=e 1,288
MPEs(=21) 21,072,150 18,339,400 2,732,750
WEHHRI= 21,072,150 18,339,400 2,732,750
LHEHHRI = 21,072,150 18,339,400 2,732,750
706 H+=dcl3a e 21,072,150 18,339,400 2,732,750
0B Al - SNSRI ISH ==t 16,830,000 14,330,000 2,500,000
O'10 XL HHIArL (Rtet) 2,000,000
O'"11 NgE YA (1K) 1,000,000
O'"11 XNLE FylAt (2x) 1,000,000
O'"11 NLE FHIAFI (3R 850,000
O'12 NLE A 620,000
O'14 NgE oA 1,000,000
O'15 NgE YA 1,000,000
O'16 ALE YA 1,500,000
O'"177 NLE ZHIA 2,500,000
O'18 NLE ZHIA 2,500,000
O'11 LESA JUEZ 24 450,000
SHUSIESEE 9732 HAHAEZ 3
HI(1XH) 400,000
SHUSDESCZ G232 A= &
HI(2XH) 690,000
O SN SE SHELF 390,000
OFEUw ALAIA (R 240,000
Otll~e2 =XE AL (X&) 460,000
OJl=~23 =XE AL (&) 230,000
04 Al - EXISGHLI IS0 =S 0l Xtaf & 4,242,150 4,009,400 232,750
O'10 XL ZHIAt (Rtet) 120,000
O'11 NgE HEIAR(1XH) 105,000
O'"11 NLE FYlAt (2x) 105,000
O'"11 NLE ZHIAF (3R 89,250
O'12 A= ZHIA 86,800
O'14 NgE ZHIA 180,000
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A= REASD SN ERDY

3= Wes(=2n)

=l WRAAXE EEREE

4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
O'15 N EHIA 210,000
O'16 XLE FHIAY 300,000
O"17 NgE EHIAY 450,000
O'18 NgT EHIAY 500,000
O'"19 N EHIA 400,000
O'20 XZE FHIAY 600,000
O'11 LEFA JYEZ AL 47,250
OSHUSIDSER G232 HHER2 &
BI(1XH) 42,000
OSEUSIESER G232 HHERZ &
bl (2XH) 72,450

O'11 VSN LE =g 40,950
OFSUL ALAF (RHE) 14,400
OdlL~e2 2XE AL (RHEH 27,600
OJ=2~83 2T HE (X 13,800
O'20 SR Mol STAY 22,500
O'21 T2 EHIAY 158,000
OXe-58 NYT SELHISA 179,850
O -Xat XNLe LIS AL 152,850
Oxd-58 N HZLITA 84,000
Og4s-g= N2 SLISA 73,800
OdE-g2t 2N A4 82,650
Od=z-s4 =Nk 24 33,000
ORYSZ2-2FIC =Xz 2HE 51,000
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20243 =0k LB dEALE=

A £ 0l & AF & S

2024-02-02 09:57:29

Al A

A= Dg€HEx 2N DSEER
M mHest nEEF JIgRE
Rl =X S48 Hsus |4 EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
wSE T 52,070,430 47,930,370 4,140,060
= 6,417,000
z 10,345,000
< 35,308,430
Helgt nS=ESF Jg7E 52,016,863 47,836,391 4,130,472
= 6,417,000
= 10,345,000
< 35,254,863
=2 S HEus |4 37,684,390 33,269,950 4,414,440
= 5,910,000
z 9,422,000
< 22,352,390
ANAHA2SAISE HE X2 4,319,500 4,324,500 5,000
307 2Itold 4,284,500 4,284,500 0
0 2= HEXS 4,284,500 4,284,500 0
OAl2tA 2EA MEXIE 4,284,500
402 QIZEXH201H 35,000 40,000 25,000
01 QI X2 AL E A (KEHITHR) 35,000 40,000 25,000
OCHEI X+ XI& 35,000
AU (sHE)HA 2EAIS HEX 4,303,080 6,089,400 N1,786,320
308 XXM SOIA 4,303,080 6,089,400 21,786,320
01 AXHHN B EES 4,303,080 6,089,400 N 1,786,320
OAlU(s0E)HA 23AIY HEXIE 4,168,080
OAlLHA HF==HSe =8 X 135,000
SAled A2 6,915,000 5,152,000 1,763,000
= 6,043,000
< 872,000
307 2I2t01 400,000 0 400,000
= 120,000
[ 280,000
QB 2=gHEXS 400,000 0 400,000
OAQIHA BEXIEd Ea24 400,000
z 120,000
< 280,000
308 KtXIEMS0IH 6,515,000 5,152,000 1,363,000
= 5,923,000
< 592,000
01 XN B E2ES 6,515,000 5,152,000 1,363,000
OAH(SHE)HA HId EABA 6,515,000
= 5,923,000
& 592,000
AIHA Hlis=lled EAMAE 2H 100,000 290,000 190,000




= ogHE= 2A  nSEED
A Helst NSEF JIgRS
&elr =X 4o LS |4 EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
207 AIHEH] 100,000 290,000 190,000
01 A2 S| 100,000 150,000 50,000
OAIIHA Hi=Ad &dARME S 100,000
HSwSSIA0 tiet 2 2 MBIA80E 89 50,000 0 50,000
207 AIHEH] 50,000 0 50,000
01 A2E9Y| 50,000 0 50,000
OS2l et 28 & MelA~ &
e 50,000
Sgus+g Cg2x 717,600 904,800 A187,200
= 562,000
< 165,600
403 X SHHMSAH=01H 717,600 904,800 ~187,200
= 552,000
< 165,600
01 RIXIEHRIA 2 2 2 717,600 904,800 A187,200
SEUSsH FUEX 717,600
= 562,000
< 165,600
SgusSs+H 236 X (=H1) 1,681,500 1,075,100 606,400
= 1,681,500
308 ARISMSOIE 1,681,500 1,075,100 606,400
= 1,681,500
01 MRS SExXS 1,681,500 1,075,100 606,400
OS8us=t 24| X2 1,681,500
= 1,681,500
Sgnssg 28] X2 (XHA) 810,000 0 810,000
308 ARISHMSOIE 810,000 0 810,000
01 MRS LExS 810,000 0 810,000
OS8us+t 24| X2 810,000
ZA0ISAFHEH &X 1,114,400 480,000 634,400
307 e12+0ld 1,114,400 0 1,114,400
05 212t = 1,114,400 0 1,114,400
OZS0ISAHH &X 1,114,400
MAHA S8E 10,410,750 9,983,600 427,150
= 3,676,500
< 6,734,250
403 MRS AE01H 10,410,750 9,983,600 427,150
= 3,676,500
< 6,734,250
01 XIXISHX=2EX 10,410,750 9,983,600 427,150
O&Il MaHA SUEX(UE) 7,735,000
= 2,990,000
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M Helst NESE JIgRS
Rl =X S48 Hsus |4 EER=E)
AR RN BB G(SH) - MRAY - BES 0l Aro Ce = CmE==T
Ofl &k2h
[ 4,745,000
OFI| MAHA TUBE(FEH) 113,750
= 42,500
< 71,250
O HAHA SUEx 2,562,000
= 644,000
& 1,918,000
HE-NS-85 92 Mgz A718Y 200,000 0 200,000
207 ARl 200,000 0 200,000
01 H7ESHI 200,000 0 200,000
OUHE-NE-5= 2925 F¥sU=ES o
ng9 200,000
SN EX dsoHY HE 2H 1,600,000 0 1,600,000
308 XtXIEMSO0IE 1,600,000 0 1,600,000
14 JIEIRE=3 1,600,000 0 1,600,000
Ogs-ted 5= SHEX 29 =42y 1,600,000
Al JIEZH =2 XI& 432,850 432,850 0
308 AHXIEMSOIH 432,850 432,850
01 AXEHNBHELES 432,850 432,850
O8Al JIEZN =2 K& 432,850
AN20t2 8=EAl 2SN (sEE 1sS:2Y) 892,620 852,620 40,000
z 400,000
< 492,620
308 XIXIEME0IH 892,620 852,620 40,000
= 400,000
< 492,620
01 AXNB 2 LS 892,620 852,620 40,000
OAZB0I2 A=A 2N (sEENEL
o) 892,620
as 400,000
[ 492,620
AN20t2 #H=EAl 2SR (S3E SAIXY) 490,740 490,740 0
z 150,000
< 340,740
308 XXM SOIA 490,740 490,740 0
z 150,000
< 340,740
01 AXH B2 LS 490,740 490,740 0
OAB0IS A=A 22X (BSENEL
o) 490,740
= 150,000
(= 340,740
S3EHA N3 (ZAE nsS2e) 1,669,000 1,060,000 609,000




od
i’
oF
uJ

S8 8 S S S B33 318 e|e 8|8 B S8 N
= o G < o I i D Y S1910< m S99 |2
] > 1)) 1)) > S
0 3 3 2 > 2 << A
E
E=)
8 8 8 8 8 21818 818 818 8188 5 8188 8
S S S) S S oo |0 S|e S|S S|a|s - S|a|s ~
Uﬂ._muN.._ — — al oV al = —
KIS
S 388383888 88|I8838I8838I8 838 3|IR83|IR3IK IS8 888 823188 38R 88 LISISI8 8|\
S 3|e S 3|2 S S 3RS KRS KRR S Koo oRIK K|S|S Saaa 6|0 S S F|a|la|la oo
S8EEBBEEEBSBISEIZSENE =TTV TN T VR R ER|TTT 08
ol |— - - - - - - A = S —
<
S
m W m W m U m W m U oo
ar
&)
=
oD = = o
= il il =
B} A H
B A = i | m
— 0 ] 0 ! s
= = 10 0 Hr _ Ok | 20 g Al
ol m A E i 0 HEEFEE o0 K4 - o
= K = 0 Ki 3 _ - R ORI Rl K |®mo - K0
wm e o ¥ ) i m & D T L e N S|
v S 2 3 J0 S 2 3 o0 qu | |oF QeoDt fob W | up w| [ o=
- Ujo R 3 = Ujo 8 5|3 3 Tl|a A |(s|an W|x 0H =< KD
= = = o = = 30| <0 5 KRR Rm|RR 5| SN EAE RN
R0 o) o) 0 R o) o) AL N el U U 1 L e sl|a|m < |®
. = = <| R = M e = N = = A = T o e e NEIERAE
X K =0 | R R o= B |H Mla|< & |a|=< ®o sICIERELRE
I % s © 70 Q s © W=z Olals Olgls O g|s ©|d <5y O3
. <] E[0] <] o [ < eVl Y] HI|N e} o [ &> [Ho
1 Ho E l ) E E
A )

_18_



>

d

ES|

CHE . GRS - NIRAE - BAR A HIDEZ
AXIEHSOIA 1,624,858 1,517,786 107,072
18 SIS0t 4 A AS A 1,624,858 1,517,786 107,072
Ousdsd 284l 2x 1,624,858
SRA"2a A L HE A 11,700 13,000 21,300
201 Zet=3hl 11,700 13,000 21,300
01 AtR2te|HI 11,700 13,000 1,300
OsFAH=2a 2 & UE MH 11,700
BIAl SAE AL 253,500 226,200 27,300
= 253,500
308 AHXIEMSOIH 253,500 226,200 27,300
= 253,500
01 AXEH B2 LS 253,500 226,200 27,300
OBAl ZRHE &AL 253,500
= 253,500
SO Aol o= S NESE 46,865 52,625 ~b5,760
201 er=3| 5,000 52,625 A47,625
01 AtR2t2lt] 5,000 52,625 AN47,625
OusSetd Ane 222 M 5,000
308 XXM SOl 41,865 41,865
3 SJ 2SO0t HAS A 41,865 41,865
OuSord HH O S& & S3 &= N 41,865
=t SEAL SSAHY 21,000 21,000
308 AHAIEMSOIE 21,000 21,000
18 SIS0t AS A 21,000 21,000
O=ItNSEA SSAIS (S HSALY) 21,000
B HEXIS(HEAY) 8,550,000 7,320,000 1,230,000
403 AXIEHHSAH=201H 8,550,000 7,320,000 1,230,000
SHA=Ex 8,550,000 7,320,000 1,230,000
O=xtetd HEXH 8,550,000
SEX DX HER S (HEAY) 1,897,500 1,897,500 0
403 MR SHHMSAH=01H 1,897,500 1,897,500
01 AXISHHA 22 £ 1,897,500 1,897,500
= =S ANSA AMLA =4 1,897,500
usite XA 116,930 121,330 24,400
= 95,100
= 21,830
[ HSO0IE 116,930 121,330 A4,400
= 95,100
= 21,830
A EES 116,930 121,330 24,400
SWSItE G OtelXl X 116,930
= 95,100
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A £ 0l & AF & S

2024-02-02 09:57:29

20243 =0k LB dEALE=

Al A

A= gEAd=m 2M 0 EXEE 0
M EXNEHE &=
Rl DHEERS EXZEAME EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
EXNEEW 5,955,027 7,517,789 21,562,762
= 5,256,037
e 41,925
& 657,065
EXNEE &= 5,906,118 7,463,462 A1,557,344
= 5,256,037
N 41,925
& 608, 156
DAMo=0l EXEEHEH 5,199,842 6,680,825 A 1,480,983
= 5,115,037
& 84,805
IHEZAIXIDE A 746,770 755,696 28,926
= 745,770
T 1,000
201 Lt | 1,000 1,000 0
= 500
& 500
01 At 22|l 1,000 1,000 0
O=gl 1,000
= 500
& 500
202 Ot 1,000 1,000 0
= 500
= 500
01 =L 1,000 1,000 0
OMESAIXIDIL ZA 1,000
= 500
& 500
308 AXIHMISO0I& 744,770 753,696 A8,926
= 744,770
01 XN AExS 744,770 753,696 A8,926
OMESAIXIDIL ZA 744,770
= 744,770
EXNHEHE HRFX 15,200 11,200 4,000
201 ZEH2 & 9,000 10,000 21,000
01 Ar22eltl 9,000 10,000 A1,000
OEX#HEARFA 9,000
203 R =& 1,200 1,200
03 AR FXIHRFAIH| 1,200 1,200
OEXNEEHRFA 1,200
401 AlEHIZ 20| 5,000 5,000
01 Al&HI 5,000 5,000
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4= FEAL= A ENEED
M EXEE &3
CHol: DMOIZO| EXFTHE (crel: g)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
| Oa=a wog) 2 5,000
EXEEYSR 2t 2T M= 6,075 6,750 AB75
201 eet23| 6,075 6,750 ABT5
01 AtR2t2|HI 6,075 6,750 AB75
OENE=2g: 2el M M= 6,075
AHze|ge =8 60,000 63,100 A3,100
= 60,000
308 AXIHSOIA 60,000 63,100 23,100
= 60,000
01 HXSHH B EES 60,000 63,100 23,100
OX &2 |ge =& 60,000
= 60,000
=S EHH RREx 5,530 5,530
201 =3 5,530 5,530
2 Ss52g4l 5,530 5,530
Ofld=gdtl R+ 5,530
ASXH T FHIAY 126,000 0 126,000
= 90,000
== 36,000
308 AHXIEMSOIE 126,000 0 126,000
= 90,000
< 36,000
01 HASHHBAEEXS 126,000 0 126,000
OHEXNAT FHIAE 126,000
= 90,000
= 36,000
K= THZEALALS 4,240,267 5,836,549 1,596,282
= 4,219,267
=S 21,000
201 er23 | 10,000 10,000 0
= 10,000
01 At2t2l] 10,000 10,000 0
OXNETHEAANG &8 10,000
= 10,000
308 AFAIEHMSOIE 4,230,267 5,826,549 A1,596,282
= 4,209,267
= 21,000
01 XN EES 4,230,267 5,826,549 1,596,282
OXIETHZAAL 4,209,267
= 4,209,267
OXNETHEZAIMNG =& XIS 21,000
232 2435t 342,646 291,377 51,269
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